| Transfer function |

10

Magnitude
(=Y
o

[EEN
S
N

10

TN=12/NR/2N11 21:1K-NR 7R

..............................................................................................

DAMP_L / TEST_V
DAMP_T / TEST_V
DAMP_V / TEST_V
DAMP_R / TEST_V
DAMP_P / TEST_V

DAMP_Y / TEST_V

Frequency (Hz)

Avin=RN

| Transfer function

150 F

100

al
o

Phase (deg)
o

T0=18/06/2011 21:15:06.75

......................................................................................

Frequency (Hz)
Avg=50

| Coherence function |

1
0.9
0.8

T0=18/06/2011 21:15:06.75

DAMP_L / TEST_V
DAMP_T / TEST_V
DAMP_V / TEST_V
DAMP_R / TEST_V
DAMP_P / TEST_V

DAMP_Y / TEST_V

Frequency (Hz)
Avg=50



| Transfer function | | Coherence function |

e
10 _E 0.9 E— --------------------------------
' N ] S I
V1 == R A
() C
% . 2! 0.6 R A
210 S .F
c § 0.5
g Pl £
= DAMPL/ TEST_V g @@ s - S e o S - 004 (@ omwpiiesrvy |
L{ A pAavP_T/TEST.V ... 500 _________________ _____________ _ 0.3 A DPAWP_T/TEST.V
DAMP_V/TEST V : : ; o DAMP_V / TEST V
10_6 = V DAMP_R/TEST_V o 0.2 :_ V¥ DAMP_R/TEST_V
] % DAMP_P/TEST Vv W .l i i .'"_ O 1:_ Y DAMP_P/TEST_V
B DAMP_Y /TEST v [l L, “E DAMP_Y / TEST_V
A 0 _
10 10
Frequency (Hz) Frequency (Hz)
TN=12/NA/2N11 2N-A'E2 201171 Aun=RN T0=18/06/2011 20:43:53.201171 Avg=50

| Transfer function

150 F

100

a1
o

Phase (deg)

Frequency (Hz)
T0=18/06/2011 20:43:53.201171 Avg=50



